SAMA

SAMA ( ARITH, PRINT ) 000 U000 O0O0OOO0OOOO ;

Oo0e:
SAMAO,0000000O000DO0OO0O0OO0O0O0DOOOoOoooOog.
oodgde:

SAMAOOOOOOOOOOOOO,000000000o0o0oO00. 200000000000 Oogoo
oo.0000gobooboooooboobboooooobooboooo.

goood:

PRINT/NOPRINT OO OUOOOOOOUOUOOODOO,0000000O0O0OOOCOOOOODOUOOO
goo.

ARITH/NOARITH OOO (00)00000O00O0O0OO0O00OOOOOOOOOOOO.

0O:

SAMA (PRINT,ARITH) GNPQ GNPQA;

SAMA (ARITH) GNPQ GNPQA;
PRINT @SFAC @MOVA;

O00020000,@SFACO0O0OODOODODOOO @MOVAOOOOOOOODODOOoOoOooooooo
go.

goooog:

ooooooooooooooooOooO,SAMAOOOOOOOOOOO. oooooooooDoooo
goboobooooooooooo:

g goo og og
@SFAC oooo oono oooboooboooooboooooooobooo
@MOVA 0ood ooboo 0O0O0O0O00ooobobOooobo

0000000 o0o0Do0oooo,0000000odooDoOoooOooon.
Oo0e:

00000000 X0O00O,+00000000,000 TOooooooOoOoo.ooooo@(Quoo
0o00U00)0 p0O,0000000000O0ODO04000,00000001200000. 000000
gboooooboooobooooobooDo:

MOVA(E) = X(£)/( X 00000)
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SAMA

000,X000O0OOooOoooooooo.
p=4: (/H(XE-2)2+Xt-1)+XH)+X(t+1)+X(t+2)/2]
p=12: (1/12)[(X(t—-6)/2+ X(t—=5)+ ---+X(t)+---+X(t+5) + X(t+6)/2]

ooooobobbooooobobooD p+10D0b00000O0O0DOOOOODODODO. DODOO
OO0 MOVA(t)O,00000000,p00000000000000ODOODOOCOOOO. MOVAO
ooooo, (oo p/20000000000,000000)T—-p00O0O0O.

pO0000000 MOVAOOOOOOOOOOOOOOOOOODO.

SFAC(1) = 1/(T—1)% (MOVA2,1) + MOVA(3,1) + - + MOV A(T, 1))

SFAC(p) = 1/(T —1)(MOVA(2,p) + MOV A®3,p) +- -+ MOV A(T, p))
odooooobooooobooobooooooooooooo,bo001o0doooooooooaa.

oboboobOoo,booooboooooobooooooog.
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